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i PR A f 9.0

PEEFE T AL B2y Asi m3 0.5
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AR Y Hifb & = VR MFY = A > R, ¢300 G 2
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AR A S U A T & 9 ?$@¢wﬁmﬁmﬁ4ﬁ 1 2. 000
R U il © = AT by ;350 T7oM | 2. 000
PEEEn (HEE4) ¢ 300 K 6. 000
PRI A kT SP300A X RS, ¢ 300 1# 2. 000
5. fHHT
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6. HEEIRT
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HEE 28 (& R R TR R A 45. 000
RV R H 45. 000
Pet% o7 Bk A 45. 000
FA VR HEEE R A 45. 000
P m 159. 000
PeHEHEE (RN Y) & 25. 000
PR — A - r—7 VAR m 159. 000
HfEAR— R - F—7 VR (BB YY) H 25. 000
bR —R - r— T m 159. 000
i bAR—R - =T R (BHAY YD) H 32. 000
(4)Hei: THehas BB (2)
A B~y R AR— 7 m 159. 000
U 75 m 159. 000
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PebiE - e — AL T m 159. 000
(6) I EAL
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AR pAk s 2L ARk A 45. 000
(7)HEHB T
TeA# 77 o MY - BT & A 1. 000
T Z o s BB 1. 000
7 Z o MR I A 32
1HIE ~y RAZ L m3 51. 300
P E R IH & =S m3 51. 300
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(1) ROER T
EARLES— b i 568
TARZE v — b m3 1. 630
TR E v — ML ton 0.070
iR (ML) R~ ERE -~ nt 307
bR (BN R~ ERE~ s nt 125
(2) LT (SR FEAENLHT, A, L=11. 5m
HEFHUE A S B RAT « iRk JEA [ 1. 000
HEFHUE A S B RAT + iRk 513k [m] 1. 000
IR RBUEN (Hk AR % 38. 000
IR IR 4R L=11. 50m # 37.000
IR B RAR G 14K L=2. 55m B 1. 000
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T 2 Y m 25. 270
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P RMAI Ly %Y, 1.=8. 95m ton 0. 430
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AU G B IRA -+ fig ik JFEA 5] 1. 000
ST A B IR A -« gk G1E73 [ 1. 000
IR RAEN  (RkRAR) i 26. 000
IR RAR G 14K L=14. 5m bi's 25. 000
IR SRR G 14K L=3. 2m bi's 1. 000
LR SR R AR B ton 21.750
A G0 m 18. 720
- EkE L ton 1.73
P TRAER o3 i 2= M#Y, 1.=3. 2m ton 0.192
P RMAI L5y MY, L=11. 30m ton 0.678
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OV T BN m 2.0
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BB R IE T FEAESTIT ton 0. 633
R T FEAESTIT ton 0. 633
FPen T (BT HT) RC-40, t=150mm nt 13. 400
FERA L (BEENLHT) RC-40, t=150mm nt 6. 400

6/8




TAE - FER - B Fis XA % i

Bhse= 2 Y — b FEHENLHT m3 . 600
Bhe= 7 Y — b FEHESTHT (SPHRYAE) m3 . 285
Piig= 7V — b BT m3 . 600
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a7 ) — Mtk ST m3 . 000
a7 ) — ME (BIELHD) m3 . 960
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